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Abstract

This article is concerned with the study of the great circle on a unit sphere by making
use of longitude and latitude coordinates.

In Section 3, spherical distance between two points, longitude and latitude coordinates of
a point divided with the ratio of m:# internally and externally on a great circle between
two points and longitude and latitude equations of a great circle have been calculated in
terms of spherical trigonometry.

In Section 4. various vector calculations have been simplified in terms of calculations of
fundamental quantities which are X, ¥, Z or A4,, B,, C,, components of position vectors
of a point on a sphere. Therefore, the results of Section 3 and also other formulas have
been derived without introducing spherical trigonometry. In particular, an angle of sphe-
rical triangle has been expressed with lengths of three sides.

In Section 5, the fundamental quantities were differentiated and their geometrical meanings
were reviewed.

Finally, in Section 6, the known farmulas of a tangential vector of a spherical curve,
differential coefficent dy/dx, a line element ds, and Rhumb line were obtained in terms of

the fundamemental quantities.
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sin(4—-x,) _ sina cosy,
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cos ycos x=0
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Prg Atz FHHs 24 H3sE KB R
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(B 7EDA A mBEE] AKR-S @A
c0s(90° — y,)cos(x— x,) =cot(90° —3)sin(90° — 3,)
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sin(x—x,)
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1
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£AN P== AT O SITL & <vvvvvvererm e (3_16)
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tan y= tan o Sin(x_m) .................................................................. (3_17)
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k&l y el Bhol nolan x izl ataa FEZZSHE KBS BERELERXS R v
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<& G-17e A
tan y=tan a sin(x—p)
olx o] KEE & (0, m)¢& Az
tanz=tan a sin(—p) B sinp=-—cotatann
Q BRI dek. weiA
cos p=+~'T—sin’p=+'1—cot?a tan’n
o] Rk, o374 cospE Kol = WEov 2AL x#hkel @S 3 ¥ 90° web
A se Ae Aoz Wetezsd EFsieh et
tan y=tan a{sin x+/T—cotZc tanZn+COS X COt A tAN 7]  weerevrermerrrmrenceeees (3-18)
Z Qe oA Rk KE RBREHERX =,
3-7. =& Pi(x, vy, Px; y)& XiLte KBRS EREAER N
P, P& Ave KB L £F —& Py, »E
Hstz = ANP,P,=0 &tz 3c}, = NP\P,
NP,Pil A £4& mpEHEe AX& #HA
c0s(90° — y,)cos(x, — x,) = cot(90° —»,)sin(90° — y,)

—cot @ sin(x,—x,)
c0s(90° — y,)cos(x— x,) =cot(90° — y)sin(90° — 3,)
—cot(180° —@)sin(x—x,)

SEREBY

sin y, cos(x,—x,) =tan y, cos y,—cot @ sin(x, — x,)

sin y, cos(x—x,)=tan y cos y,--cot § sin(x—x,)
ole}, EA Kol A cot & kba o] A& A Kol %8l

ARAsHE

R

sin y, cos(x—x,) —tan y cos 3,
sin(x—x,)

sin y, cos(x, —x,) = tany, Cos y,— sin(x—x,)

ol 3 o] A& HEdd
sin ¥, cos(x, — x,)sin(x— x,) =tan y; cos ¥, sin(x—x,)
—sin y, cos(x— x,)sin(x— x,) +tan y cos y, sin(x — x,)
cos y, =M g Vra RESHA

tan . tan
Y1 <sin(x,—x) ——_—sin(xz}z ™)

tan y= ——7—"—
Y sin(x, —x;

Sin(x]_x) ........................... (3—19)
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2 Qruh ol AL =& Pi(x,3), Pa(a3)E Az KBS i RRe vk, 4K (3-19)

A x=m, »=0; =0, y,=noj"

tan y= é?%-sin(m—x) .................................................................. (3-20)

Qo Ae =g (m0), (Omg Ak KB Bl x y kS GOl #4 m n <l AEel
g sERe drbde, £ (31964 x=0, y,=n e 3

o

tan y= tz::ly; sin x__ts%xﬁ‘sin(x_xl) ............................................. (3-21)
1
Z i, o] A-e Pi(x, ) Avbm oy EhES] el nol AEe K@ Rl =

4, HEo| 28t KB EE

4-1. HE LS Aol (IEwE EXE
FERSD s C% RUGREEEIRC) EE O, JuiE Nst 2o CO, CNE &4 5o X, Z
o Il = REE A COdl FmEew Coll 4 2o S Yiom M <t Ve
e Be) X, Y, ZHi] AFRE ol SEE HAMERE @ittt AL el Ao
= RRE O] & P2 REEREEE (%, HAEEE(A, B,C) (km=0,1,23 D
et w4 PO RMEEET (xy), AAEEE XV, 2= midw. o = « Pel gl
Ae
A, =co0s ¥, C0S X, W
Bl mCOS 9y SI X, | weeeeeeemesen e 4-
C,=siny,
= & Pl gl A
X=cosycosx
VomQOS P SIN L | weeeeoseeeeemonen e e s (4-2)
Z=siny

ol BAfRKe] Bazsta =

A"l

tan x,,=

cos yu=+'A,*+ B,

sin y,=C,,
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tan x=—Y—
X
COsy=+X2iyz
Sinymz T, 4-4
tan yzﬁf_rf?
ol BRI gle,
el o] EE 29 & P, Po Bl Coll ek f@e el =
CT”,::A,n i+B,j+C, k=cosy, cos X L COS ¥, Sin x,, j +sin y,, k
W:X,H—Y,—kZ,,:cosycos xi+cosysinxj+sinyk
°Ieh. = |CP=[CP|=1 o] =
VATIBITC =1, VXY =1
ol 5},
A, B, C,; X, Y, Z
T & P, PO BEAEo)ulx FEZ R ghv}, HEARS =Y fyEis HEA = g3 2
o] sirh
L X1+Y 4 Z2=] SN ™t ... (4-5)
2. A2+ B 40 = 1\W a2 ... (4-6)
30 At B 0087, et B s 55t el e e -7
4o XPEY 2008 +oo ettt e (4-8)
5. A,A,+B,B,=cosy, cosy, COS(Hpy—H,) ++rremvenevmneeneiineevineaennn ., (4-9)
(F&H) A,A,.+B,B,=cos Ym COS X, COS ¥, COS x,,+COS ¥, sin x, COS ¥, sin x,
=C0S 3, €0S ¥,(C0S x,, COS x,,+Sin x,, sin x,)
=C0S ¥,, COS ¥, coS(x,,— x,)
6. XA,+YB,=cosycosy, COS(X—2,) v vrrnennm et ee e e (4-10)
7. A,B,+A,B,=cosy, cosy, SIN(X, - K,)  vveeeenmemeneeee e (4-11)
8 XB,+YA,=cos ycos y, SIN(X 4 X,) wovevnrnnemeieeanaiee e (4-12)
9 A,,,A,,—B,,,B,,=COS I COS ¥y COS(Hpy - K,)  ooerveomemnnreneeninninniinainannnnn.n. (4-13)
10. XA,-YB,=cosycosy, COS(XTF2,) wevvemrnmmmninnennnerin s, (4-14)
1. A,B,—A,B,=cos y, cosy, SIN(X, = %,) +overerrerereinnenaeiiieeeainesinnn, (4-15)
12. XB,—A,Y =cosycosy, SIN(X,— &) ooverreriiiie e, (4-16)

4-2. ZK P(x ), P(x,y,) AOI2S] RREES S,,

CP,=A,i+B,j+C.k, CP,=A,i+B,j+C,k
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ol4 piBk CP, - CP,% st
€08 Sy = Ay A+ BBy CpCy woe v reressmmsnssnsin st (4-17)
o)z o] Aol P,, P, #tole] IREFESE S,.5 gexshs Akeivh m=1, n=2 «|vl
cos S;,=AA4,+B,B,+C.C,
o)z EARS HH (4-9)E @A
€0S S;,==C0S ¥; €08 ¥, cos(x,—x,) +sin y, sin y,
o] ®lv}, =(4-17)ell (4-9)F HAstd AKX (3-6)0] FE=lch,
& O ok & P(x,y) Aol o] MR St A=1, B=C=0 oz 39
c0s S=AX+BY +CZ=X=c0s y COS ¥
olil S=r g}z Feod
COS 7=CO0S ¥ COS X
o5, olAe AR (312 A RKelch,
4-3. =& P(x,y), P(x,y)E mn2 RAY Hoste & PO BBEEE
I. Ao 32

WE 9] =& P, Pod minx W4 5 P(xyek &8l Py, P8 EHR2Z A3 K
L CPole) #5He etz avl, A F 4 Qo MAMEE: (4, B,C), LPCP,=Sy

+
PQ:QP,=CP,sina: CP,sinb=sina : sind P

-3 _sina 55°
PlQ——SianPz ’ Pz
- AT sina==3

ZPCP=-""—5,=a, APCPZ}VE”—n—le:b S R

CQ—CPl—A b(CPz CQ) b3S
-C—Q>___ sina P sin & (—:F; % 9K

sina+sind 2 ' sina-+sinbd

sm b
sm a-+sin b

sina
“sina+sin b(A

oleh. o714

—_—
CQ=A"I+B'j+Ck

olE
r— 1 (A .
A= aTsin p(Asinat Asin &) l
f= - -—771777 ——
T sina+siné

(B,sina+Bsind)
r A,,l,,,,_ . .
C = szt b(Czsm a+C,sin b) J

— 13—



(14) 19754 4 B BBEREAE BXE 5108
g BRI 9=

A2+ B4 C'= »{sinfa(A,2+ B,? +C,?) +sin b(A*+ B2+ C,%)

1
(sin a+sinbd)
+2sin a sin (A,4,+ B,B,+C,C,))

- m {sin*a+sin®b+ 2sin a sin b cos S, }

olvh, = o714 (4-6), (4-17)o] A= et 22w
sin’a+sin® + 2sin a sin & cos S,
=sin’a +sin? + 2sin a sin b cos(a+b)
=sin’a-sin?b+ 2sin a sin 4{cos a cos &—sin a sin &}
=sin’a cos? +sin?b cos?a -+ 2sin a sin & cos a cos &
= (sin @ cos b+sin b cos a)?
=sin?(a+4)

=sin4S,,

’ 173 12 _ Sin SIZ_ z
A+ B"+C"= (sina+sinb>
o]
h=y=¢ — Sin SIZ o
ICQ| - Sina+siﬁ_b— ‘_{}_‘; O<ar b) Sl?,<180
7l sl2x
—_‘C—}!:_ cQ = sinq-{-sinb (A'i-i—B’j+C'k)
IC_Q"l sin S,
o) o,
CP=Xi+Yj+2Zk
ol m .z

X= s S —=—(A,sin a+ A, sind)
Y= s Sn (BySIN@H-BiSINB) ) coveeviiieeiiieeiieee e (4-18)
smS ~o—(C,sin a+C,sin b)

olvh. Priel MBEME (x,5)% Rt/ Aad: AR @-)F @HtoA.

sin

Y B,sina-+B,sin b B.+ sna 51

tan x= = —= DO =
X Asina+Agsind sin b

A4,+ ——-A,
sing

— 14—



BREmEBs wa (8 (15)

. ,_ C,sina+C, sind _ sina sin &
siny=Z= sin S, “sin S, ( 2 Sina C‘)
o] L #ehA
tan B,+H B,
= A2+]; lAl
..om
sin——3S,,
. m+n
Sm}’=“—‘sm_sz—(cz+chx) L oot s (4-19)
n
sin S
H = . m;—n -
Slnmslz
o] Fazrsta P, P.ol whiel EE (x, »¥E
_ Bz+Bl
tan x———————AZ_{_A1 1
1 QNN Ly oo (2-20)
SiHTS;Z [
siny = sin Slz (Cz+cl) )

24 FolAch, AX (4-19), (@-20)e AR (3-8), (3-9o ¥R} = Pold MBS
P2 Fisted AELES 0 wbF #7734 PO RREEE(x )=

B,+HB,
@nx=—7 HA

oo SN0 o ey L S0 A 4-21
sin y=-—"5— (C,+HC) (4-21)
He= sm(S_lz—G)

sin 6

24 Foiaicl,
I. %92 3%
P, P, 9t XEIME mnz SAHSE &S Plry), = HE PPt H¥E CPsel &
AL Qula deh. o LPy CQ————Su——a, £LPLQ=— o=t B AT = Q &9

HAMES (A, B, CHBx &, o« F10ME- A &

P.Q: P,Q=CP,sina: CP,sinb=sina : sind \
@
o] aL @
Fo- e 7 IS

Co~._Sne_zp> _sinb__op 108

sinag—sin b sina—sin &

m[sm a( A+ BZ_H—Czk) sin 8(A,i+ B j+Cik)]

—15—



(185 19754 4 A BBWHEAS RCK 5108

o).

CQ=A"+Bj+Ck

. 1 A
A—mb(Azsma Asin b) j

R
B S T—— b(stma Bsin &)

, 1 . .
C _SIT(Zl?]HZ(CZSIH (Z‘Clslﬂ b)

o] Bizareh, whelq

A’2+B’2+C’2=(~Siﬁrlcin—b)_2 (Sin?a( A+ B,2+Cy?) +sinb( A2+ B2 +C,2)

—2sin a sin 0(A1A,+ BB, +C,C,))

— 1 NIy 7 .
=sina—sm b)z{sm a-+sin%—2sin a sin b cos S|, )
oAz Re|
sin®a + sin%b — 2sin a sin & cos S,,=sin?S,,
b HlEw
72 2 2 Sin S‘.2 ) 2
A" +B%+C _< sing—sin b
T sin S,
: ’CQI_isina—sinb
w2}
—3_ 0@ _ 1 . o . o
CP= - = S [(A,sin a— A,sin )i+ (B,sin a— B sin b)j
ICQl SIN Oy,
+(C,sin a—C,sin &) k]
o}, =
CP=Xi+Yj+Zk
o] @ sz

. s
X=-+ sin Slz(Azsm a—Asin b)

.1 o
Y_isin“Sm(stma B sin &)

i *1 . _ .
iéinTu(clena C;sin &)

i BT sineg>sind o)w +Z, sinae<sin b o= —E Kzt

—16—



HE@ER HR B (17)
whelA Pael RSB EEG e

_sind
tan x= -2 _ Bsina—Bisind _ 2" “sina !
X T Asina—Asinbd sin &
Ay————A,
sina

o} aL
B H.B,
tan x= A,~H,A,
.om
. sin———-S). .
sin yZi_Si—nS—m—(cz‘dzcl) ................................................ (4-23)

.. n
sin—-——>S,
_L”___.

n
H,=-
sin—o— S
"
t} Vil ’!1%1- 3 m S>> H n S = 5] S S ]
3 AR R —— 122> S0 PO olwl +&, Sm_— xz<5mm 2 ol|m —

& mEe.
A Rl A, Ak (-23)e AR (-9)sh HEET. = kS R M (-2 m<n 3 A

- Atz ) 4 2= m _..__.__.b
= EEsE. b ol W e ST el Wk

i AR (-2 A ZET o RE=fHE R4 BEL AR G-l A F4 sin mfn S;>sin

oSt e A ¢ 4 A
m—n
o Pi(agy) BB Py(x, y)® FEkd KBS 00F TS Peiel EEE o

g>S,, o) | Pgiol fmEmmes (4-23)4 A

tan x= -§ —HB, )
- —HA,

- SING n 70N | et
sin y= SAII—IYSl—g (C?_ - HCI)

b S-S

- sin d

v}, sind>sin(8—S;,)
24 FolAlel
4-4 R P& @22 #E KE EREFEX
o oz s KEES EEAE Px et i)
— 17—



(18) 19754 4 B @EWEAE B3g H108
CP, - CP=0
o] 3
CP,=A,i+B,j+C,k, CP=Xi+Yj+Zk
olr =z
ApX+BY +CZ=0 oottt (4-25)
°of Bszitwh, o3& Pog fBom o} A AR SRt 2

Po(x, 3,08 BAuD Col 23 $iE0S Pt ¥ DA A &, =1, +180°, ¥, =y,

ol m
A’ =cos(—y,)cos(x,,+ 180°) = —cos y,, cos x,,= — A

m

B’ ,=cos(—y,)sin(x,,+ 180°) = —cos y,, sin x,,= — B,
C=sin(=y,)=—siny,=—C,
olx wield P& Mo s sk KB (4-25)d] o) &4

—-A,X-BY—C,Z=0

A,X+B,Y4C,Z=0

e Pt o v sy K@ F—slo, Pl o(%,~180°- 3,0 % Mo m o

Pultns) & Moz she KBS SRMEFERS = CF fool BEHES Poo o
T RE] VI REe SMesAE RAAG. 8§ Pix, y)0 HAGEE (A

Bu C) o122 Pog wibsha 8ol T BEe Ao
XA+ (Y =B, +(Z~C,)1=2
ola = Crt dulrql BAIERET - X24Y2+Z=1cjmx o] %= el A

1-2(4,X +B,Y +C,Z) + (A%, + B, +C?,) =2
&

A,X+B,Y+C,Z=0

L] o
s T T

——

45 P,(x,vy,), P(x,y)8 Klibe X@O & P, EBERA,. B,, ()% &R

EEAE (X s Yo
Py Pofl BRefly Coll 43k 184 ) CP,, CP,o] ABke 3hgratel
C?,,:x—C_P:,=(Ami+B,,,j+C,,,k)x(A,,i+B,j+C,Jc)
i J k
=| 4, B, cl
A, B, C,
=(B,C,~B,C,)i+(C,A4,~C,A,)j+(A,B,— A,B, Dk

— 18—



HRERE 7 (&) (19>
w}2}4

[CP, XCF,| =(B,C,~B,C,)"+ (Cody—C,A,)? + (A,B,— A,B,)?
ol v}, =]
(4,2+B,2+C,) (A, + B2 +C,) — (A, A, +B,B,+C,C,)?
=(A,B,—A4,B,)7+ (Cpd,— Cd,)2+ (BoCp— B,C,)? woveerevinnnn. (4-26)
olx (4-6), (4-17)% mfEsl
1-cos®S,,,=(B,C,~B,C,)*+(C,A,—C,A,)+(A,B,~ A,B,)*
S, <180° gtz nw

¢p,,—CP:xCE,_ .
|CP, XCP,}

"sms ((B.C.,—B,C,)i+(C,A,—C,A,)j+(A,B,— A,B,k)

olt}. =i} A
CP,,=A,,i+B,.j+C,.k
Bha BhR whgo] mRizdith.

mn = EIYI—S (B c —B Cm)
......................................................... 4-28
an sin S (C A —C Am) J ( )
Cmrz= SlﬁT—(A B A Bm)

el (2855 Aol BOCEe) NEFE v = oshuel fel RelAY. & (4—28)ell A B

ta — *an Cm n_CnAm
A= 'Amn ngn—Bncm 7

[ ............................................. (4_29)
Sill yﬂ:n :Cmn Sln Sm"(AmB A Bm/ /J

T WL (X S 24 Tl AL}
46. =& P.(x, Un), P(x, v)8 KiLbe XEO EREHER
F AP, Pyt Avie KELY R —G% P(xy) ola s

— 19—



20) 19754 4 A BMEWREASE R K108

CP - CP, X CP,=0

XY Z
A, B, C,. ‘=
A, B, C,
(B, Co=B.Co)X 4 (CoAy—CoADY + (ApB,— AB,)Z=0 oo (4-30)

) A& Py )y Puln 30 Ak KES {8 AR v o] KBS RBEHFERS
9] ABEIE] Pooy(Hom Yn) & M2 ShE KET —Fl ok -0 Mol T EBEZ Pran(Bomns Imn)
2 Moz st KES

A,.X+B,,Y+C,,Z=0
ol: A A B (4-30)] WML AL AR (4-28)ol4 BEISHeL.

Pi(xy, 3D, Pk )% Ak AE BEEFER T 27 Aade @-30)6d4 m=1,

n=2= 1 = B
CZ(XBI—YAI)—Cl(XBz—YAZ)+Z(A,BZ—AZBI)=O
oz dm o4 AR 2T AR (@-12), @-1DE @A

sin ¥, cos y cos y, sin(x, —x) —sin y; €os y €0S ¥, sin(x, —x)

0

+sin ¥ C0S ¥, COS ¥, sin(x,—x,) =0
o]z cosy 24 RS relA
sin ¥, cos y, sin(x, —x) —sin y, €os ¥, sin(x,—x)

+tan y cos y; cos ¥, sin(x, —x,) =0

gn
tan y= sin y, cos y, sin(x,—x) _ siny, cosy, sin(x,; — x)
~ COS ¥y, COS ¥, Sin(x,— X,) COS y; COS ¥, SIn(X,— x1)
ot 2k A
__ tany, ). any o -
tan y= Sn(x,—%) sin(x,— x) S, — % sin(x; —x)
e, y%90°
& Q. ol AL AX (3-19)e] ek,

4-7. =& P(xy, y1), Pu(xy y2), P:(x; y)0| 22 KE. Lo US 353
ol A

rlo

EP-: . EEX&?’?:O

— 20—



REEES #R (K ca21)

A, B, C
A By €y =0 o e (4-3D)
Ay By Gy

Ex (31904
Ny = AP —x)—_ Ay, o B P -
tanj3—sin(xz-xl)51n(xz X3) sin(xz—x,)sm(x‘ X3) (4-32)

o] e},
4-8. P.(x,9), P(x,p)8 22 st § KHO %xo EE
Pi(x0,31), Polae, )8 fBom s KBS AKX (4-25)0] o a4
AX+BY+CZ=0, AX+B,Y+C,Z=0

NEREE
A-Z+ B 1C=0, A ¥t BT ic,=0
o2 o] A-g Foloha
X _ BG=BC, Y _ CA-CA
Z T AB~AB Z = AB,— AR,
ol e}, El
. "
BC,—B.C, ~ CA,—CA, ~ AB.—AB,
X y? z

(B:.C,—B,C)?  (C,A,—C,A,)  (A,B,—4,B))*

_ Xy ze

sin? S, “sinz S,
wheld 2200 EHAKRE
X=g PGB,
sin Sy,
Ve CiAe=CoAi [ e (4-33)
- sin S, [
__ AB,—A,B, |
2=y, )

oleh. ® EHRHE ARl +8, £t ARG -8 Ryo @34 T kB Zae 2|
23 2EE WD Csh —EM kol 9l-gol BiEIsh,
250 KSREEAE (x, DE AKX @-Od a4 U-3)oz 3

- Y _ CA,—-CA,

@ X =% —="p C,—B.C, st
- AIBZ_AzB]

Sny=Z=-—-Grs,

-~ 21 —



(22) 19754 4 7 BEBEIBERSE HUR 57104
oo shvbe] Zedie] kAlA " fbe A qhelAlel,
4-9. Py(x;, y,), Pu(x, y)B KiLbe XBI Pilx, v, Px, y)E KlLte XKE2 TH
2| 37| Gy
P, P& A KB Py, PoE Avbe AR 88 &4 P Pouba shm 208 (1-28)4
2] o 4]

—
CPyy=Apd+ ByJ +Cuk Qe
= s 5, L(BACo— BLRI+(CoA—Cod

+ (A;B,— ABy)k]

CP, =A,i+B,j+Cyk

=i [(BAC,~ B+ (C,A,~C, A -
+(A,B,— A,B,)k] %128
SEREBE

— —
cos 6'1157:("})1’0 * (’Pﬁr

= (BiCy=BL(B,C,~B,Cy) . (C,A4,—C,A,)(C,A,—-C,A)p)
sin Sy, sin S, sin S, sin S,

. (AB.— AB)(AB,~A,B)
sin Sy, sin S,

P R0 N R )
(A4,A, + BB, +C,LC)(A2+B2+Cp?)—(A,A;+ B,B,+C,CH(AA, +B,B,~-C,C,)
={(B,C,~B.L,)(B,C,—B,C,)+(C,A,—C,A,)(C,A,—C,A,)
d (ApBa— AB ) (ApB, — A,B,)  eeoveeersimiiisiiei (4-33)
<l BARE leh. od7lel (4-6), (4-17)8 wHisHod
cos S,, —cos S,, cos S,,
=(B,C,—BLCH(E,L,—B,Cy))+(C,4,—C,A,)(C,A,—C,4,)
(ApBy—= AB (A, — A B,) wovveeveeieneieneiiiseein e (4230

o) We}, w4

_ cos S, —cos S, c0sS,, B A
€08 Gy, = SIS, S, T T 4-37)

b gezEr el ol Ag KEbe ¢ KBS AE rEshe BRKel
4-19. =& Pi(x,y), P(x:, 9., Pix;,u) 2R ElE HE=AKL #3t Fol 27|
HBEE A AKX (A7), (-3¢ WA WIEE ohe MRkl Mzt
929 _



RIm@EES e B (23)
cos S;,=A,A,-++B,B,+C,C, \

|

c0s S;3=A,As+B,By--C,C; |

cos S, =A,A;+ B,B;+C.C,

cos S,;—cos S,, cos S,

€oS O5,,= : -
312 sin Sy; sin S,

€0s S;3—Cc0s S, cos S,

COs = - o
O12a sin S;, sin Sy,

c0s S;,— 08 S5 08 S,;
sin S, sin Sy,

el S,=90°, Sp=90° o] vl

Cos 923) =

~

cos 90° — (‘05900 cos Sy,
sin 90°sin S,

cos 63132

cos 90° —cos S, cos 90°

€08 Orzy= = G 6 sin 905 =0
cos 8y, —cos 90° cos 90°
€0S Bzg1 = sin 90° sin 90° =C0gS:;
o]l L
G3,.=0,,,=90°, 6.5,=S,
b s ool A e Hefah —E e,
4-11. B=FFH FAst £8
Zigi Py Po Pooiid S BRE A PPPel EBEmps Sz i
PPy Poota ebxk Ak (4-28)2 /854 F147E

L Pya(Ays, B, Cis)ell 9311 o] X‘i =

A=y 5, (BCmBLC) )

32——‘Si111523(CZA3_03A2> 1

_ 1
Cos= gnsn

B,

(A;By— A;B,) }

2L Pyi(Agy, By, Cs)ell A=

Ay 231115?1(3301 —Be) l

158
le':ﬁlTal(csAl—cha)
_1 _ '
Co= g (ABi=ABy) |

8 Pp(Ap, B, Cp)oll gl A=

— 23—



(24) 19754 4 § BRBHEKE RHCE £108

A= gn 5= (BCi—BL)

Blg 1 (CIAZ—'CZAI)

= sin S
Ci =§i'nl_s'l_2(Ale'—AzBl)

o}, Py, Py, Alole] KEINL] Zo] & Sy 282 3hdd
oS Sy, 2= A3 A1z 4+ B3 B12 +C5:,Ch2
1
=SiTS3?iH’S;{BscL_Blca)(Blcz“Bzcl)‘l'(csAx"ClAa)
X (C1A,—C,A,)+(A;B,—A,B;)(A,B,— A;B)))
23K (4-36)00 <8l A

S __ cos S,; cos S5, —cos S,
€0S931,12= sin 83, sin S
31 12

= AR (4-374] 2]34

€05 G, =08 S,;—c08 S, cos S;
213 sin S;, sin S5

ol v}, wel4
€08 S3;, 12=—C0S O,y;
olx: W= JEI HH
S312+623=180°
7} BE
o} aell
i Jj k
CPuXCPy=| Ay By Cis
Ay By Cyy
= (B23sCs1 — B31C3)i+ (Co3As1 — C31A53)J + (Aps By — Ay Boyk

U=B,C5,—B3,Cy;
V=023A31—031A23
W=A23331—A31323

olgb Fx X (4-28)¢ @A

U =_(CoAs=C34:)(A;B, — A, By) — (C; A, —C1A3)(A4,B;— A;B,)
sin S,; sin S3,

V= (4,B;—A;B,)(BsC,—B\Cy) —(AsB,— 4,B,)(B,C,— B,C,)
- sin S,, sin Sy;

—_— 24 —



HIEmERY HR 3 (25)

W= (BgCg —B;;Cz)(C;Al —‘CIAB) " (Bacl _BICB)(CZAS_C3‘4Z)
sin S,; sin S,

o] 5 HFE B
_ AJA(BC—~BC)+ A(BiC,— BiCy) + Ax(BIC,—B,C))

v Sm S, S0 S,

Ve Bi{A(B,C3— ByCy) + A,(ByC,— B\C;) + A3;(B,C,— B,C)) |
sin Sy, sin Sy

W= C,{A(B,C;— ByC,) + A;(B;C, —B,C3) + A3(B,C, — B,C) }

sin S,; sin Sy,
o] v}, w=lA
(A2 + B2 +C2)(A(BoC3—BiCy) + A, (BsC, — B\.Cy) + A;(B.C, - B,C) |

sin? S,, sin? S,

U-vVirWe=

_[A)(ByC3—BiCy) + Ay(BsC, —B\Cy) + A(B,C, = B.C) |*
- sin? S,; sin? Ss;

l_c_ﬁan}—;al‘:\/Uz—l—Vz—{—W

_:t[Al(Bzcs“Bacz)+A2(B3C1—Blca)+A3(Blcz—Bzcl)]
- sin S,;sin Sy

ol B2
Py xCPs
CPyuXCPu_ 4 (4,i+Bj+Cik)
|CP;3 X CPy|
7F "xh. Bl P, KEI PPy o) ol Hie,
4-12. P, (x, y.) & HWOZ st KB HNBHFENX
P,(%m ¥,)2 Hoz ste KBS HEXZ AR (4-25)¢ 23 A
AX+B,Y+C,Z=0
ojw o] 3
A, cos ycos x+ B, cos ysin x+C, sin y=0
s} el cosy 24 &S Yorel A

A, cos x+ B, sinx+C, tany=0

rlo

Bi tany= — A,.cos xg B,sin x

&, y% T, 0
ojeh, o] AL o] KELS —&% P(xy)eh &l CP7 CPush Bz ffbel o). malvl 3-5
of el A KRR uheh o) MBS JLES doletm stderz 0<y,<Teln webd >
0 o] o},

— 25 —



(265 197548 4 A BERTEKRE Hcg FI0H
1 1 C,’

cosr= 1+tan 2y= (AmCOS X+ Bmsin x)z = Cm2+ (A,,,COS x+BmSin x)z
1+ R

ola x — 32’ sys 7-25 o] m =z cos=0, =&l

cos y= Cn

V' C, 4 (A,cos x+ B,sin x)*

=

sin y=tan v cos ye= — _AmCOSx+B,sinx c,

y=tlany y= C., \/sz T (A,cos xt B x)?
—(A,c0s x+ B, sinx)

- VC,i ¥ (A,cos x+ B,sin x)?

7b ®lv}. X=cosy cosx, Y=cosy sinx, Z=siny o] $]2] cosy, sinyE A}

X= C,cos x
B ’\/sz "}"(A",CQS X+ B,,,Sin x)?
C,sin x )
= > " B " N\ R © / 1-38)
Y vV C, 4+ (A,cos x+ B,sin x)? ( )
_ —{(A,cos x+ B,sin x)
" ~C,F+(A,cos x+B,sin x)?
o] =i xullAlel & Hxl
X = C,cost
"~ VC,2+(A,cost+B,sin ¢ )
Cosint
Y= e, Q. OF 1Y\ . 4-39
VC, 2+ (A, cost+B,sint)? ! )
7o __= (A,cost+B,sint) J
V24 (A4,c08i+B,sint)?

shoeh, ® EAEE L SEE GE . (530)% Pu(n,2)e Bz st A A
SRR o,

5. EXBo REy

WEAA o RE LS BREESE 2% AT95e Bod ®RsEe Seb, 28] o] A
¥ & Radiane i Ffste},
5-1. &% 8o RHS

IV i ZE oo (5-1)
o] X=cosycosx, Y=cosysinx, Z=siny & x, yol 3|4 {Ei%srsta

— 926 —



IREEES PR (D

X _ _cosysinz, gf =cos y oS %, —2% =0

z;—)y(:—sinycosx, W:—sinysinx, %—}—)Zu-—-cosy
o] 5L EE
X2 YZ 1 ZZ__.
2 x, ol k) RSl
x 22y W22
ox %
- oy e (5-2)
Xay~+Y 3 Z~ay— =0
& Qe deld
o 0X . 0¥ .. 0Z,\ _
(Xi+Yj+Zk) - (79 o +Wk> =0
R ox . NWHME
i virzh) - (Goiegiiv k) =0
olvh. =
DX X OV OV 0Z DZ i s -
Tx a5 T ax v tom oy 0 -3)
R AVACT =N
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